Word Problems - Addition and

Subtraction

| buy a Twix pack for £3.56 and
2 Mars bars that cost £1.49
each. How much change will |
getif | pay with a ten pound
note?

Apple has 3,251 workers
working in the factory. Around
Christmas time it was getting
busy so they employed an
additional 2,342 workers to
build the new iPhone.
However, in January they had
tolet 1,785 of them go. How
many workers now work in the
factory?

A chocolate factory usually
produces 1,568 caramel bars
on a Saturday but on a Sunday
production halves. How many
bars are produced at the
weekend in total?

Mo is saving up to buy his mum
some chocolates for her
birthday. He has £3.45 in his
piggy bank, his dad gave him
£2.39 and his nan gave him
£1.76. The chocolates cost
£12.50. How much more does
Sam need to save?¢

A teaching company decide
to launch a competition to win
signed photos of Mr Painter
and Mrs Chisholm. They draw
35 winners each day for the
month of March. How many
winners do they have in total?

Jamie buys a t shirt for £11.38p
and a pair of shoes for £34. If
he pays with £50, how much
does he have lefte

Challenge - Can you write your own word problems?




